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70,0004#20™8 *12€= 16,800,000

240,0009 %2012 = 57,600,000

30,000, 000¢1%13]= 30,000,000

800,000 28 «12€= 19,200,000

713 A+ DH
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50,0004 #283+12¢9= 1,200,000
2,740 %20 2300 = 12,604,000
11,840,000 x23]= 23,680,000

2,000,000%13]= 2,000,000

55,0006 *124d=" 3,960,000
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2,300,000%2%]= 4,600,000
10,800,000 *13]= 10,800,000

100,00099%109 «13]= 1,000,000
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AAFE 0 Bdik(F (29 d4)
T BES | Ad 2 9 RESL AEA 2 ()
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0 0 200
o] 24 0 0 100
o] 100,000¢1+13]= 100,000
YA LT 0 0 100
7 100,000¢1+13]= 100,000
G| = 0 0 8,700
Loldw 0 0 8,700
TAA QG A= 0 0 8,700
TAALAH 8,700,0009+13]= 8,700,000
Al <A 163,084 3,960 25,300 192,344
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